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12 ; ;‘}“ FEAREEL 4.06 1.03% 063 06 |12|sir i e 1 3.83 172 065 09 |i2lwmm 1 4.06 142 176 19
13|/ & fotr o 2 3.94 257 382 12 |13|ws 1 3.83 141 142 09 |13 ; ;” pEAREEL 4.06 103 063 19
14| 3 = 2 3.94 172 137 12 V| ERSPIparg 1 4.06 072 103 19
15| 4 & e 2 3.94 125 079 12 15| s 1 4.06 0.72* 034 19
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2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
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i (ICD-10~ ) = K i il % | e 7= = K e % | (ICD-10~ #f) 7= K 5= L %

1 R F 266.37 160.91 124 .00.0 HEF R 7 F 29 334.64 209.85 1.21 .00.0 4 R 7 %] 194.46 113.06 1.26 .00.0
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1|srfosmp o3 53.27 34.86 1.49 20.0 1 Pprfessph o4 7 80.78 55.57 1.66 241 A 36.46 26.30 2.24 18.8
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415 % 23.68 15.71 2.59 8.9 4165 R® 2 23.08 16.25 1.37 6.9 SFfedE P R 24.31 14.19 1.05 125
Sl AF #f"H 23.68 11.14*- 054 8.9 5 = fl]"k’f\(ﬁéﬁ”ﬁk)‘% 2 23.08 15.79 1.77 6.9 FEAFER 24.31 10.64 0.76 125
6 |+ %Jﬁl(%éi‘”jﬂ\)% 23.08 15.79 1.77 4.4 615 % 2 23.08 13.26 2.26 6.9 A A LA 12.15 7.38 0.60 6.3
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i (ICD-10%~ #8) A Hic i i Fe =Lk % | (ICD-10%4" #8) L i = & v = K Fv =k % | (ICD-10%4 #8) A #ic e F i 7=k %
“h e F 100 211.88 123.89 096 .00.0 3 R 7 60 244,00 150.78 0.89  .00.0 T R F) 40 176.95 100.84 1.07  .00.0
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2| 13 27.54 16.76 1.43 13.0 VA B 12 48.80 31.27 1.35 20.0 2 P R 6 26.54 11.36 1.05 15.0
3 |rresFp s R 12 25.43 14.46 0.68 12.0 Kl et - 6 24.40 16.31*-  0.50 10.0 K EREELRS: 5 22.12 14.97 131 125
41%% 8B 11 23.31 11.74 0.85 11.0 4l - 2 Hior R 6 24.40 12.60 0.76 10.0 4z - 2o 5 22.12 12.78 0.99 125
5]+ 5 5 % 5 22.12 14.97 131 5.0 5 |5 5% 5 20.33 1151 2.09 8.3 5% % 4 17.70 10.24 2.02 10.0
6|+ PR G e 4 16.27 8.18 1.26 4.0 6|+ ZEXC = 2903 4 16.27 8.18 1.26 6.7 6 =% 2 8.85 3.53 0.93 5.0
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9 i g fodl i v2if 3 6.36 411 2.45 3.0 9leg#% 2 8.13 5.46 0.49 3.3 9|r 1 4.42 1.45 211 2.5
10] 5 = % 2 4.24 2.96 1.04 2.0 |10} # F& 2 8.13 5.32 2.04 3.3
Hoi bl L o R 13 27.54 15.84*- 0.54* 13.0 How 2t L g 5t F] 6 24.40 15.99*- 0.49 10.0 How 2t X g 7 F] 3 13.27 6.54*- 0.31* 75
11 & i % 2 4.24 2.70 0.48 20 |11)s % 1 4,07 3.64 0.40 1.7
12 f sF v 2 4.24 2.66 1.65 2.0 12| % 1 4.07 351 1.88 1.7
13 1 2.12 1.68 1.91 1.0 | 13| 1 4.07 2.44 1.73 1.7
14|z ¢ amere L hm] 1 2.12 1.25 1.50 1.0 |14z 1 4.07 2.44 1.69 1.7
15| 7 %% 1 212 1.25 0.98 1.0 15| £ & k= B 1 4.07 1.98 0.82 17
oL RAREARE Y A v fie 3H4T7,1964 §4224,590%4 4~ 4422,605% -
2. & iv 5+ = F ( Standardized rate) % 722000 W.HO. £ f 4 ¢ Ed2 4 2 28 o Tk | 2380 5= FRF MO BEE L = 0 TX ) 2 7R85 = SR F 3305 BHER 5= 5 (0=0.05)
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i (ICD-10% #f) A Hc =& o= & Fe= b % [l (ICD-10% #f) (¥ =X R Fe= L % [l (ICD-10% #f) A #c o= & =& Fe = %
4 Reg F 78 19835  118.02 097 000 3 R 7] 53 26119 17112 102 000 3 g 7] 25 131.36 68.39 087 000
S 70 17801  107.87 111 897 Sk ) 47 23162  153.77 110 887 LA ) 25 131.36 68.39 145 000
1 [ gesep 2 21 53.40 32.06 156 269 | 1|qeren e 11 54.21 37.77 119 208 | 1|qesep e 10 52.54 25.54 2.34% 400
2|55t gaeorm | 13 33.06 21.52 079 167 |2|id i dqa 8 39.42 28.00 076 151 |2|iw -t adem 5 26.27 15.78 084 200
3|uy smqearn | 12 30.52 18.61 123 154 |3]es . igqeurg 7 34,50 22.66 116 132 |32 i mqourma 5 26.27 15.14 133 200
4lswn 7 17.80 10.22 209 90 |4|ssm 6 29.57 19.59 183 113 |4|+pssa 3 15.76 8.88 098 120
] ERTE 3 15.76 8.88 098 38 |5]-ums 4 19.71 11.86% 056 75 |5 ;?”T‘}“ﬁ"“’(”)m 1 5.25 153 3769 40
) ERETE =T orY 3 14.78 8.53 131 38 |6|=wn 3 14.78 9.30 160 57 |6|sum 1 5.5 1.53 716 40
7|c wn 4 10.17 601% 055 51 |7[#smcEesion 3 14.78 8.53 131 57
8 |euen 3 7.63 4.90 08 38 |8lim 2 9.86 7.29 107 38
als % 2 5.0 3.84 059 26 |9]|miferesn 2 9.86 5.81 747 38
10|/ & fodc 3 2 5.0 2.56 574 26 |10)em 1 493 2.94 245 19
B A ] 8 20.34 10.15%  0.46* 103 PR —— 6 29.57 17.35% 064 113 PR 0 0.00 0.00 000 00
112 amrene ahn] 1 2.54 1.56 189 13 |u)rssmreneainn| 1 4.93 2.87 300 19
12| 2 i s 1 2.54 111 441 13 [12]a i 1 4.93 2.56 683 1.9
13| me 1 2.54 111 126 13 |13|ews 1 4.93 2.56 212 19
14555 5 1 2.54 111 069 13 |14|seen 1 493 2.56 085 19
15 ;’% VAL GO 2.54 101 3930 13
Woat: 1350 R kmE P A v e 539,324 % 9§ 1220,2924 219, 0324 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 87 18959 11001 091  .00.0 4 g 7 53 22524 15538 086  .00.0 st Ao ] 34 15207 8367 100 .00.0

g 66  143.83 8679 088 759 L 42 17850 12707 086  79.2 T g 29 12971 7259 109 853
i tissmn | 16 34,87 1985 082 184 |1|r s 11 46.75 3239 130 208 |15 g userm 8 35.78 1918 112 235
A 14 30.51 1965 157 161 |2|i# 25 a e 8 34.00 2150 064 151 |2|ww 2w 5 22.36 1295 116 147
3lan  syqouerg | 1 23.97 1598 096 126 |3|es . imiara 6 25.50 1868 084 113 |3|i# 3 13.42 721 166 88
 EEETE ST 4 17.00 922 147 46 |4]|eww 5 21.25 1359 128 94 |4|- s 3 13.42 606  7.44* 88
5 [sresep 2 6 13.08 700~ 037 69 |5 |ssmpcmmin 4 17.00 922 147 75 |5[wperen i g 3 13.42 530% 060 88
6|4 5 10.90 674 123 57 | 6|wfesen i 3 12.75 878* 027 57 |6|vim 2 8.95 645 252 59
7| i 2 8.95 645 252 23 |7|sEm 2 8.50 606 216 38 |7|wus 2 8.95 566 104 59
8ls % 4 8.72 512 099 46 |8lusm 1 425 990 181 19 |slepsrum 1 4.47 397 027 29
9 | sen 3 6.54 3.65 072 34 |oliwrsameon 1 425 374 093 19 |9 fg ;f S B 4.47 331 085 29
10]« g5 5 1 4.47 397 027 11 10|z s gmpen e am| 1 425 320 268 19 |1olsmm 1 4.47 250 301 29

Hustagarm | 21 45.76 3222 103 241 R 46.75 2832 083 208 A T 5 22.36 1108 069 147
11 ; ;‘*ﬂ” Sl I 4.47 331 085 11 |11 ok 1 425 271 457 19 |1tre s sanen 1 4.47 250 170 29
12| 5 e 2 436 315 175 23 |w2lise 1 425 268 591 19 |woliws 1 4.47 194 59 29
18] 2 & e 2 436 306 120 23 |13]s i 1 425 241 093 19 |13]s i 1 447 140 140 29
14l 5% 2 436 247 602 23 |u4|s % 1 425 241 045 19
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ot LT BACHRAE Y A r i 45,8884 ¥ 423,5304 A 1222,358+4 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

“h e F 69 291.52 154.57 111 .00.0 74 e~ F 47 377.75 215.32 113  .00.0 h R 7 22 195.94 88.40 1.00 .00.0

Ry T 54 228.15 120.30 1.21 78.3 Sy i 42 337.57 194.74*+  1.38 89.4 LA e A F) 20 178.13 82.02 1.29 90.9
#2578k 15 63.37 33.77 1.15 21.7 1P+ferp 23 % 11 88.41 49.94 1.50 23.4 425847 % 5 4453 25.34 1.08 227
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3 [ AR GO 4 32.15 16.96 1.86 5.8 3|k 5 40.19 28.03 0.98 10.6 3|5k 3 26.72 9.66 232 13.6
41 - BB 7 29.57 11.86 0.88 10.1 4l BB fonr R 5 40.19 17.82 1.01 10.6 415 B s R 2 17.81 10.72 0.96 9.1
5]c 5 21.12 15.07 0.98 7.2 Sl IERENC: = 29k 4 32.15 16.96 1.86 8.5 5|5 - 25 fuzri 2 17.81 6.38 0.65 9.1
) BRI 2 17.81 10.72 0.96 2.9 6 | A fod o o 2 16.07 10.73 10.28* 4.3 6 |4 F 1% 2 17.81 4.09 12.77* 9.1
7 |=%% 3 12.67 4.96 1.10 43 A EXCE WA T 2 16.07 9.79 2.66 43 7|7 o 1 8.91 5.46 6.25 45
8|+ ¥ 1 8.91 4.92 3.89 14 ) B 1 8.04 9.43 1.46 21 8|+ v R 1 8.91 4.92 3.89 45
9|~ &A% 1 8.91 4.69 2.18 14 9|etirs » 2 B 1 8.04 5.68 2.47 2.1 9| & % 1 8.91 4.69 2.18 45
10| @ A fedr o S 2 8.45 5.87 8.05 29 |10lfi - ¢ B 4cRl B F R 1 8.04 4.25 11.71 21

Y T | 15 63.37 34.28 0.85 21.7 Hoi2bL & g 5 5 40.19 20.58*-  0.45 10.6 Hi Tk 7 %) 2 17.81 6.38*- 0.31 9.1
1 2 & Sl = B 2 8.45 5.49 1.74 29 |11 1 8.04 4.24 1.03 2.1
12 ",Mluf% 2 8.45 4.20 6.18 29 12) 3 % 1 8.04 4.24 0.64 21
13) 4 F 2 8.45 2.34 2.90 2.9 |13° st 1 8.04 3.07 5.99 2.1
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

“h e F 67 181.48 106.03 0.85 .00.0 74 e~ F 37 194.04 124.89*- 0.74 .00.0 h R 7 30 168.06 88.64 1.06 .00.0
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B 88  236.89  12353*+ 1.49* 83.8 LA e T 58  301.58 171.46 1.41* 906 L X g F 38 21210 11267+  1.77* 92.7
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8 |3 4 10.77 4.84 2.57 38 | 8|en 1 5.20 3.99 2.29 1.6 | 8|a-Fm 1 5.58 4.09 4.87 2.4
o [ risp ot i) 2 10.40 541 080 19 |9|mgien o 1 5.20 328 204 16 |9 fg ;f” HEARESL 5.58 409 099 24

;?}E;{K@_;\p’;ﬁ—,; . N
1ol 5 1 5.58 4.09 0.99 1.0 |10] % fom &t 1 5.20 2.94 1671 16 |10 1 5.58 2.61 3.18 2.4

2L A g 5 ) 17 45.76 26.14*- 066  16.2 A A R ) 6 31.20 19.39*-  0.45* 94 R R 3 16.74 6.28%- 0.33* 73
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4lepss g 5 23.93 16.82 138 42 |4alew . imqeems 6 27.13 1439 081 80 |4|+psim 5 23.93 16.82 138 111
5| 7 16.27 9.40 081 58 |5|wws 4 18.09 11.47 175 53 |5 ;;*"" AR g 14.36 6.91 256 67
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12| 3 6.97 385 277 25 |w2lieeizamen 1 452 320 088 13 |wolsmm 1 479 215 268 22
13|57 wa 1 479 202 212 08 |13|wm 1 452 251 182 13
14535 2 4.65 2.92 111 17
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205 8~ A5 E R 9 59.06 17.50 0.88 184 2| v e 7 87.61 58.62 1.92 21.2 2|5 s i ir R 4 55.17 19.95 1.66 25.0
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KJ E AN F G - 9 53.41 21.40 1.24 15.0 3|4 - 25 frmm 7 76.96 37.78 1.62 15.9 ) EREE LRS- 2 25.79 10.34 1.15 125
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9 |5 2 11.87 495 081 33 |o|®ErcmEaiax) 10.99 716 5486 23

@ (g )
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